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1. BETEINA
SBHIEXEIRBIEEEIA 40,000 40,000 0 0.0%
NIEBFEILA 40,000 40,000 0 0.0%
TEXARSEEEEBRSETEEIA 147,650,000 160,515,000] A 12,865,000 -8.0%
EEEEHILA 125,723,000 135,734,000 A 10,011,000 -7.4%
RRESENHAFIRA 11,448,000 12,343,000 A 895000 -7.3%
RimEEEHIM A 313,000 338,000 A 25000 -7.4%
AZHULA 9,161,000 11,500,000 A 2,339,000| -20.3%
ZDHULA 1,000,000 600,000 400,000| 66.7%
SZHFE 4,000 0 4,000
3N 1000 0 1000
SBIEXLIREEEEIRA 1,901,000 1,905,000 A 4,000
E KB EEF BILA 1,900,000 1,900,000 0 0.0%
ZHF R 1,000 5,000 A 4000 -80.0%
FEFRFULAGT 149,591,000] 162,460,000] -12,869,000] -7.9%
2. BEXEYTH
SBHIEXLIREIEEE T H 1,604,000 1,202,000 402,000 33.4%
REXBEEXH 10,000 10,000 0 0.0%
BIEEMRE X H 3,000 3,000 0 0.0%
HEMEXH 80,000 80,000 0 0.0%
FRIEAREZH 150,000 150,000 0 0.0%
EEMXZE 162,000 165,000 A 3,000 -1.8%
fRIER 2 H 6,000 6,000 0 0.0%
E Lo dan 70,000 70,000 0 0.0%
BEEXH 250,000 50,000 200,000 400.0%
HWEIEH 700,000 500,000 200,000 40.0%
REEXH 17,000 16,000 1,000 6.3%
BREEXE 6,000 6,000 0 0.0%
FHHZH 140,000 136,000 4,000 2.9%
HEZH 10,000 10,000 0 0.0%
TEXASEEEEREREI N 147,650,000] 160,515,000] A 12,865,000 -8.0%
TEXRESEETEHEEEXH 70,021,000 75,536,000 A 55150000 -7.3%
REEZTH 54,000 60,000 A 6,000 -10.0%
REXAEXZH 200,000 400,000 A 200,000[ -50.0%
BMER 120,000 120,000 0 0.0%
BEEH X 300,000 300,000 0 0.0%
BEY—EXIHIH 96,000 96,000 0 0.0%
HEASREREXD 800,000 1,500,000 A 700,000 -46.7%
HESMEXH 2,341,000 2,719,000 A 378,000 -13.9%
BEEZH 1,795,000 50,000 1,745,000| 3490.0%
FIRI S AR E X 1,200,000 2,600,000 A 1,400,000[ -53.8%
PAFLE X H 3,971,000 3,800,000 171,000 4.5%
BESFIZH 14,233,000 16,964,000 A 2,731,000 -16.1%
KEHZH 655,000 1,303,000 A 648,000 -49.7%
TKERZH 346,000 385,000 A 39,000 -10.1%
HARZH 65,000 90,000 A 25000 -27.8%
EEHXZE 1,927,000 1,950,000 A 23000 -1.2%
RIEH 2 H 720,000 720,000 0 0.0%
AHRAEXH 8,000 8,000 0 0.0%
BEERH 43,000 39,000 4,000 10.3%
ERXEXE 40,976,000 42,224,000] A 1,248,000 -3.0%
BREEXE 3,000 3,000 0 0.0%
FHFAZH 87,000 105,000 A 18,000 -17.1%
[E#MHEEZE 80,000 100,000 A 20,000[ -20.0%
M 1,000 0 1,000
TEXRESEBTEXETH 24,161,000 30,000,000] A 5,839,000] -19.5%
RRFEEEXH 290,000 170,000 120,000  70.6%
REXBEXH 510,000 0 510,000
BIEERE X H 169,000 95,000 74,000 77.9%
HEMEXH 475,000 378,000 97,000( 25.7%
ENRmI & A& H 2,120,000 1,170,000 950,000| 81.2%
EEHXE 200,000 200,000 0 0.0%
E i ob:dan 1,805,000 1,455,000 350,000 24.1%
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ERXEXLE 15,683,000 24,821,000 A 9,138,000 -36.8%
BEEXH 272,000 128,000 144,000 112.5%
LEEEREXH 500,000 300,000 200,000 66.7%
FHHZE 1,795,000 1,061,000 734,000| 69.2%
EEEERHSE 342,000 222,000 120,000/ 54.1%
TEXHRSEALE -EHEXH 51,968,000 52,979,000 A 1,011,000] -1.9%
WBHEFEZE 39,535,000 39,600,000 A 65000 -0.2%
EAIEAEEXH 7,432,000 7,433,000 A 1,000 0.0%
REXAEXH 0 60,000 A 60,000| —100.0%
BMER W 60,000 120,000 A 60,000[ -50.0%
HEMEXH 0 200,000 A 200,000 —100.0%
FIRI S AR E % 0 55,000 A 55,000( —100.0%
M 208,000 444,000 A 236,000[ -53.2%
AR OEXH 100,000 200,000 A 100,000 -50.0%
HERXZE 3,800,000 3,840,000 A 40,000[ -1.0%
BEEXH 20,000 80,000 A 60,000 -75.0%
REEXH 663,000 607,000 56,000 9.2%
FHHZE 150,000 340,000 A 190,000, -55.9%
TEXASEM#FEEEXH 0 2,000,000 A 2,000,000] -100.0%
BEEXZH 0 2,000,000] A 2,000,000] —100.0%
TEXRSERSEREE 1,500,000 0 1,500,000
M EEE 1,500,000 0 1,500,000
3. EHELH
SBIEXEIRBEEEE T H 844,000 839,000 5,000 0.6%
& E MBS 250,000 250,000 0 0.0%
SEEXH 8,000 10,000 A 2,000] -20.0%
REXBEXH 50,000 50,000 0 0.0%
BIEEREXZH 25,000 25,000 0 0.0%
FIRIS AR E X 45,000 45,000 0 0.0%
R 15,000 15,000 0 0.0%
AR OEXH 430,000 430,000 0 0.0%
FHH 10,000 3,000 7,000| 233.3%
M 11,000 11,000 0 0.0%
BXEREYIHE 150,098,000]  162,556,000] A 12,458,000] -7.7%
BRTEINZELE A 507,000 A 96,000 A 411,000 428.1%
I EHEFEIZDOE
1. BEFHIRA
EARBEEARIRA 0
E{EERERIRA 0
BEEEIRIRA
BB 5 HE EIERURA 0
[E € & ESTAUNA 0
BElEFAURA 0
BEFHUNAGT 0
2. BREFRERH
HAKBEBAZH 0
EFEBAZH 0
BEEERB/XH 0
BBHAMEIHEERSZH 0
BEEEMBXL 0
HaERBAZH 0
BREESZHE 0
BRE RSN ELE 0
I BAFEENRZDER
BA 7S EENINA 0
& AEUILA 0
B TSR EIURAGT 0
B i5EE X 0
B AR FEZH 0
R A 0
B %R BN £ 4R 0
V FEEXH (553EXLIREFHE) 2,990,994 2,730,446 260,548 9.5%
LR X = &8 A 3497994 A 2826,446 A 671,548
ATEARE I T =58 3,497,994 2,826,446 671,548] 23.8%
RERHEFIEUN 37 2= 2 0 0 0




